[#A]

X L, R EE N
FE -
B #is AR A 0D JE TEE:%
. K % Ju
& | T 0w ® % e owm | M = x
L % gﬁ w B i i ) 5 B
! ] ot g . ity
i i
o 825 540 198 103 31 33 20 36 53 6 0
100.0 65.5 60.4 12.5 4.1 4.0 2.4 4.4 6.4 0.7 0.0
. 453 278 255 69 17 19 10 27 31 2 0
| 100.0 61.4 56.3 15.2 3.8 4.2 2.2 6.0 6.8 0.4 0.0
il " 372 262 243 34 17 14 10 9 22 1 0
100.0 70.4 65.3 9.1 4.6 3.8 2.7 2.4 5.9 1.1 0.0
0~ 415 11 7 6 3 0 0 0 1 0 0 0
& 100.0 63.6 54.5 27.3 0.0 0.0 0.0 9.1 0.0 0.0 0.0
5~0Lk 5 3 1 0 1 0 0 1 0 0 0
& 100.0 60.0 20.0 0.0 20.0 0.0 0.0 20.0 0.0 0.0 0.0
6 5 5 1 0 0 0 0 0 0 0
10~ 145% 100.0 83.3 83.3 16.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0
15 9 8 0 1 1 2 0 2 0 0
15~ 193% 100.0 60.0 53.3 0.0 6.7 6.7 13.3 0.0 13.3 0.0 0.0
77 37 32 7 6 8 5 5 9 0 0
20~ 247 100.0 48.1 41.6 9.1 7.8 10.4 6.5 6.5 11.7 0.0 0.0
157 111 102 15 4 5 3 9 8 2 0
25~ 291 100.0 70.7 65.0 9.6 2.5 3.2 1.9 5.7 5.1 1.3 0.0
145 100 93 20 10 5 1 4 4 1 0
30~ 347 100.0 69.0 64.1 13.8 6.9 3.4 0.7 2.8 2.8 0.7 0.0
92 55 53 20 1 1 3 5 7 0 0
%‘i 35~393% 100.0 59.8 57.6 21.7 1.1 1.1 3.3 5.4 7.6 0.0 0.0
?}] 40~44i% 72 52 51 5 1 4 1 3 5 1 0
’ > 100.0 72.2 70.8 6.9 1.4 5.6 1.4 4.2 6.9 1.4 0.0
52 25 25 8 3 5 1 3 7 0 0
45~49i% 100.0 48.1 48.1 15.4 5.8 9.6 1.9 5.8 13.5 0.0 0.0
40 24 23 9 2 0 2 2 1 0 0
50~ 547 100.0 60.0 57.5 22.5 5.0 0.0 5.0 5.0 2.5 0.0 0.0
44 26 25 10 2 2 1 1 1 1 0
55~ 591 100.0 59.1 56.8 22.7 4.5 4.5 2.3 2.3 2.3 2.3 0.0
36 29 25 1 0 1 0 0 5 0 0
60~64i% 100.0 80.6 69.4 2.8 0.0 2.8 0.0 0.0 13.9 0.0 0.0
24 20 17 2 1 1 0 0 0 0 0
65~69i% 100.0 83.3 70.8 8.3 4.2 4.2 0.0 0.0 0.0 0.0 0.0
19 13 11 1 1 0 0 1 2 1 0
10~ 745 100.0 68.4 57.9 5.3 5.3 0.0 0.0 5.3 10.5 5.3 0.0
N 30 24 21 1 1 0 1 1 2 0 0
75m b 100.0 80.0 70.0 3.3 3.3 0.0 3.3 3.3 6.7 0.0 0.0
A 311 189 170 10 11 16 13 18 23 1 0
100.0 60.8 54.7 12.9 3.5 5.1 4.2 5.8 7.4 0.3 0.0
20 259 187 176 32 11 6 4 7 9 3 0
® 100.0 72.2 68.0 12.4 4.2 2.3 1.5 2.7 3.5 1.2 0.0
& 3 140 99 92 14 4 4 1 5 12 1 0
H 100.0 70.7 65.7 10.0 2.9 2.9 0.7 3.6 8.6 0.7 0.0
B 40 84 16 43 14 8 4 1 5 5 1 0
100.0 54.8 51.2 16.7 9.5 4.8 1.2 6.0 6.0 1.2 0.0
R 23 13 11 2 0 3 1 1 3 0 0
SAUE 100.0 56.5 47.8 8.7 0.0 13.0 4.3 4.3 13.0 0.0 0.0
m 254 158 145 37 6 9 7 15 18 1 0
HH 100.0 62.2 57.1 14.6 2.4 3.5 2.8 5.9 7.1 1.6 0.0
o . 110 68 64 21 10 2 1 3 4 1 0
i KA 100.0] 618 582  19.1 9.1 18 09 27 36 09 0.0
5 [ R tEh Fx N HEbLL 349 234 221 38 14 19 8 12 23 1 0
) JBZBETEH DDA 100.0 67.0 63.3 10.9 4.0 5.4 2.3 3.4 6.6 0.3 0.0
o - e 16 36 29 2 1 1 3 2 1 0 0
- S HEAATRIEL TS A 100.0 78.3 63.0 4.3 2.2 2.2 6.5 4.3 2.2 0.0 0.0
W Z o o L5 (LA 39 25 22 5 3 0 1 3 2 0 0
R, WAL OEELE ) 100.0 64.1 56.4 12.8 7.7 0.0 2.6 7.7 5.1 0.0 0.0
2o 15 11 11 0 0 2 0 0 2 0 0
100.0 73.3 73.3 0.0 0.0 13.3 0.0 0.0 13.3 0.0 0.0
m 305 185 166 39 11 15 13 19 22 1 0
HEL 100.0 60.7 54.4 12.8 3.6 4.9 4.3 6.2 7.2 0.3 0.0
. . 207 151 143 26 11 3 2 6 6 2 0
i HRIGO 20 it 100.0] 729 69.1  12.6 5.3 1.4 10 29 29 1.0 0.0
i [ Rl tEh  Fx BEbLL 252 156 144 35 10 14 4 8 22 3 0
) FZBETEH 1 DDA 100.0 61.9 57.1 13.9 4.0 5.6 1.6 3.2 8.7 1.2 0.0
o . 16 11 10 1 1 0 1 0 2 0 0
i~ S HEAATRIEL TS A 100.0 68.8 62.5 6.3 6.3 0.0 6.3 0.0 12.5 0.0 0.0
L Z OO BRI AR, 25 19 17 2 1 0 0 2 1 0 0
. AL OEIELFEE) 100.0 76.0 68.0 8.0 4.0 0.0 0.0 8.0 4.0 0.0 0.0
2o 15 13 13 0 0 1 0 1 0 0 0
100.0 86.7 86.7 0.0 0.0 6.7 0.0 6.7 0.0 0.0 0.0




[#A]

L.

COIN Ny o
. x 4 Ju
R IS S I T Y 0
B %’ ﬁ‘l} % IE * ﬂﬁ % Eyq
i i

P 825 540 498 103 34 33 20 36 53 6 0
100.0] 65.5  60.4] 12.5 4.1 4.0 2.4 4.4 6.4 0.7 0.0
- 275 208 183 11 10 12 11 7 15 1 0
100.0| 75.6/ 66.5 4.0 3.6 4.4 4.0 2.5 5.5 0.4 0.0
6 6 6 0 0 0 0 0 0 0 0
Rt 100.0| 100.0| 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
HFfFE (—o~rva 56 38 38 9 2 2 0 2 2 1 0
V) 100.0| 67.9  67.9/ 16.1 3.6 3.6 0.0 3.6 3.6 1.8 0.0
HEFEFEE (T L —25 A 2 1 1 0 0 1 0 0 0 0 0
7) 100.0| 50.0/ 50.0 0.0 0.0/ 50.0 0.0 0.0 0.0 0.0 0.0
g 27 19 19 2 2 0 1 1 2 0 0
100.0| 70.4| 70.4 7.4 7.4 0.0 3.7 3.7 7.4 0.0 0.0
9 8 7 0 0 1 0 0 0 0 0
R 100.0| 88.9/ 77.8 0.0 0.0 11.1 0.0 0.0 0.0 0.0 0.0
REosefEE- 73—k 74 42 36 7 6 4 3 3 9 0 0
(1~2P&a) 100.0| 56.8/ 48.6 9.5 8.1 5.4 4.1 4.1 12.2 0.0 0.0
T N—BEAT DR~ 73 43 40 17 2 4 1 5 0 1 0
viay (SRR L) 100.0 58.9 54.8 23.3 2.7 5.5 1.4 6.8 0.0 1.4 0.0
— DR~ ar (3 171 93 91 36 8 6 2 12 13 1 0
/Ll k) 100.0| 54.4  53.2| 21.1 4.7 3.5 1.2 7.0 7.6 0.6 0.0
K| HriAE (B M) -tk 21 16 16 4 0 0 0 0 1 0 0
DIEFE 100.0| 76.2| 76.2 19.0 0.0 0.0 0.0 0.0 4.8 0.0 0.0
R 24 21 20 0 0 0 1 0 2 0 0
NEEE 100.0| 87.5| 83.3 0.0 0.0 0.0 4.2 0.0 8.3 0.0 0.0
o 63 29 28 13 3 3 1 6 6 2 0
R 100.0| 46.0  44.4| 20.6 4.8 4.8 1.6 9.5 9.5 3.2 0.0
# Nt AR R - AR A — 5 5 4 0 0 0 0 0 0 0 0
I i T (R 100.0| 100.0/ 80.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Z O (FIED - T8 - F 2 3 2 2 1 0 0 0 0 0 0 0
) 100.0] 66.7  66.7/ 33.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 55 42 40 6 1 1 0 1 4 0 0
100.0| 76.4] 72.7 10.9 1.8 1.8 0.0 1.8 7.3 0.0 0.0
10 5 5 3 2 0 0 0 0 0 0
R 100.0| 50.0  50.0/ 30.0/ 20.0 0.0 0.0 0.0 0.0 0.0 0.0
HFFE(—o~rva 122 99 94 6 3 4 0 2 7 1 0
V) 100.0| 81.1 77.0 4.9 2.5 3.3 0.0 1.6 5.7 0.8 0.0
HEFRFEE (T L —25 A 5 2 2 2 0 0 1 0 0 0 0
7) 100.0] 40.0  40.0| 40.0 0.0 0.0/ 20.0 0.0 0.0 0.0 0.0
g 12 10 9 0 0 1 0 0 1 0 0
i 100.0| 83.3] 75.0 0.0 0.0 8.3 0.0 0.0 8.3 0.0 0.0
6 3 2 1 2 0 0 0 0 0 0
E= Rt 100.0| 50.0/ 33.3 16.7| 33.3 0.0 0.0 0.0 0.0 0.0 0.0
2] REosefEE- 73—k 20 11 11 1 1 3 0 1 3 0 0
il (1~2RE4E) 100.0| 55.0/ 55.0 5.0 5.0/ 15.0 0.0 5.0 15.0 0.0 0.0
£l T — LB AT DR~ 141 86 76 17 4 10 8 8 8 0 0
— viar (3RERLLE) 100. 0 61.0 53.9 12.1 2.8 7.1 5.7 5.7 5.7 0.0 0.0
# — DR~ ar (3 332 208 191 48 16 9 6 21 20 4 0
- /LR 100.0| 62.7| 57.5 14.5 4.8 2.7 1.8 6.3 6.0 1.2 0.0
K| HriAE (B M) -tk 26 20 20 3 1 0 1 0 1 0 0
DEFE 100.0 76.9  76.9| 11.5 3.8 0.0 3.8 0.0 3.8 0.0 0.0
N 10 9 9 1 0 0 0 0 0 0 0
NEFEE 100.0 90.0  90.0/ 10.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o 49 21 19 10 3 4 2 2 6 1 0
e R 100.0] 42.9  38.8| 20.4 6.1 8.2 4.1 4.1 12.2 2.0 0.0
# Nt LR R - AR A — 17 15 13 0 0 1 0 1 0 0 0
I i T (R 100.0| 88.2| 76.5 0.0 0.0 5.9 0.0 5.9 0.0 0.0 0.0
Z O (FIED - T8 - F 2 4 1 1 2 0 0 1 0 0 0 0
) 100.0/  25.0  25.0/ 50.0 0.0 0.0/ 25.0 0.0 0.0 0.0 0.0




[#A]

N 13PN
B3 B RS TEE:%
1 31 53 15 1 1 1
f H AR | AR ﬁofﬁﬁsko 5 R~
i * REL | RE FLLE T AR !
i S xE R D L
o 825 30 171 102 109 70 284 9
100.0 9.7 20.7 12.4 13.2 8.5 34.4 1.1
. 453 15 113 50 71 37 131 6
el 100.0 9.9 24.9 11.0 15.7 8.2 28.9 1.3
il & 372 35 58 52 38 33 153 3
100.0 9.4 15.6 14.0 10.2 8.9 41.1 0.8
11 2 4 2 1 0 1 1
0~47% 100.0 18.2 36.4 18.2 9.1 0.0 9.1 9.1
5 0 0 2 2 0 1 0
5~97% 100.0 0.0 0.0 40.0 40.0 0.0 20.0 0.0
6 1 0 0 2 2 1 0
10~ 145% 100.0 16.7 0.0 0.0 33.3 33.3 16.7 0.0
15 1 4 1 2 1 5 1
15~193% 100.0 6.7 26.7 6.7 13.3 6.7 33.3 6.7
77 11 14 8 4 4 36 0
20~ 247 100.0 14.3 18.2 10.4 5.2 5.2 46.8 0.0
157 19 41 22 13 9 52 1
25~ 291 100.0 12.1 26.1 14.0 8.3 5.7 33.1 0.6
145 12 35 24 19 10 44 1
30~ 347 100.0 8.3 24.1 16.6 13.1 6.9 30.3 0.7
92 7 24 13 17 8 22 1
%‘; 35~395% 100.0 7.6 26.1 14.1 18.5 8.7 23.9 1.1
72 6 20 7 16 6 17 0
| ~ 3

Al |40~ 445 100.0 8.3 27.8 9.7 22.2 8.3 23.6 0.0
52 7 8 9 7 11 9 1
45~49i% 100.0 13.5 15.4 17.3 13.5 21.2 17.3 1.9
40 2 8 5 7 5 12 1
50~54i% 100.0 5.0 20.0 12.5 17.5 12.5 30.0 2.5
44 4 5 4 6 5 20 0
55~ 591 100.0 9.1 11.4 9.1 13.6 11.4 45.5 0.0
36 4 5 3 5 4 15 0
60~64i% 100.0 11.1 13.9 8.3 13.9 11.1 41.7 0.0
24 2 1 2 2 3 14 0
65~69i% 100.0 8.3 4.2 8.3 8.3 12.5 58.3 0.0
19 1 0 0 3 0 14 1
10~ 745 100.0 5.3 0.0 0.0 15.8 0.0 73.7 5.3
N 30 1 2 0 3 2 21 1
75m b 100.0 3.3 6.7 0.0 10.0 6.7 70.0 3.3
A 311 31 65 38 12 15 118 2
100.0 10.0 20.9 12.2 13.5 4.8 37.9 0.6
20 259 23 45 33 31 28 94 5
® 100.0 8.9 17.4 12.7 12.0 10.8 36.3 1.9
&) 3N 140 15 33 10 17 15 50 0
H 100.0 10.7 23.6 7.1 12.1 10.7 35.7 0.0
B4 0 84 8 24 17 14 9 12 0
100.0 9.5 28.6 20.2 16.7 10.7 14.3 0.0
R 23 3 4 1 4 2 9 0
SAUE 100.0 13.0 17.4 4.3 17.4 8.7 39.1 0.0
m 254 33 68 18 17 16 10 2
HLy A 100.0 13.0 26.8 18.9 18.5 6.3 15.7 0.8
. e 110 9 20 15 18 11 36 1
i IGO0t 1000 82 182 136 164 100 327 0.9
5 [ R tEh Fx N HEbLL 349 25 66 32 41 34 147 4
5 JBZBETEH DDA 100.0 7.2 18.9 9.2 11.7 9.7 42.1 1.1
o - e 16 5 5 1 2 3 30 0
- S HEAATRIEL TS A 100.0 10.9 10.9 2.2 4.3 6.5 65.2 0.0
2 o o i A (RELAQ 39 5 7 5 1 3 18 0
R, WAL OEELE ) 100.0 12.8 17.9 12.8 2.6 7.7 46.2 0.0
15 0 3 0 0 2 10 0
Toffs 100.0 0.0 20.0 0.0 0.0 13.3 66.7 0.0
m 305 30 63 37 12 16 115 2
HiLy A 100.0 9.8 20.7 12.1 13.8 5.2 37.7 0.7
. e 207 20 37 21 27 20 79 3
i HRIGO 20 it 1000 97 179 101 130 97 382 1.4
g | [ RIS T LB FITTTBILL 252 26 65 36 31 24 68 2
7 FZBETEH 1 DDA 100.0 10.3 25.8 14.3 12.3 9.5 27.0 0.8
o S . 16 0 2 1 2 3 8 0
i~ S HEAATRIEL TS A 100.0 0.0 12.5 6.3 12.5 18.8 50.0 0.0
% |z oo sl s GRA R 25 3 2 4 6 3 7 0
. AL OEIELFEE) 100.0 12.0 8.0 16.0 24.0 12.0 28.0 0.0
15 1 2 3 0 2 7 0
Tt 100.0 6.7 13.3 20.0 0.0 13.3 46.7 0.0




[#A]

- FE%:
B3, o
1 31 53 15 1 1 1
/\ IE . o
&8 AR AR L 04 . 5 0 5 A~
2 Kk ks kp Wy els Beoop
ki i i = xE £ D IV
2ofk 825 30 171 102 109 70 284 9
100. 0 9.7 20.7 12.4 13.2 8.5 34.4 1.1
=, 275 25 23 8 13 20 184 2
100. 0 9.1 8.4 2.9 4.7 7.3 66.9 0.7
6 0 1 0 1 0 4 0
ESi Rk 100.0 0.0 16.7 0.0 16.7 0.0 66. 7 0.0
F EFREE (RO~ Ta 56 2 4 2 9 11 26 2
V) 100. 0 3.6 7.1 3.6/ 16.1 19.6  46.4 3.6
HFEFEE (T —22A 2 0 0 2 0 0 0 0
) 100. 0 0.0 0.0/ 100.0 0.0 0.0 0.0 0.0
o 27 6 3 3 4 3 8 0
" P 100.0| 22.2/  11.1| 11.1] 14.8 11.1  29.6 0.0
ES 9 0 0 0 2 1 6 0
E= KR 100. 0 0.0 0.0 0.0 22.2| 11.1| 66.7 0.0
2] RobFzE -7/ 3—k 74 5 25 13 14 0 7 0
i (1~ 2k at) 100. 0 6.8/ 33.8 17.6/ 18.9| 13.5 9.5 0.0
b T —BEAT D R~ 73 9 17 18 17 4 7 1
— viay (3RERLLE) 100.0 12.3 23.3 24.7 23.3 5.5 9.6 1.4
i — OB~y (3pE 171 14 58 33 37 2 15 2
- | & #Ub) 100. 0 8.2 33.9 19.3 21.6 7.0 8.8 1.2
F I ER s (IHAM) - 24 21 1 6 6 1 1 6 0
DIEE 100. 0 4.8 28.6| 28.6 4.8 4.8 28.6 0.0
s 24 2 3 2 1 4 11 1
VA= =
NEFEE 100. 0 8.3 12.5 8.3 4.2)  16.7  45.8 4.2
. 63 13 25 11 7 4 3 0
o=
e R 100.0 20.6 39.7 17.5 1.1 6.3 4.8 0.0
ENAEAER Y A B A — 5 1 1 0 2 0 1 0
L EREE T 100.0| 20.0  20.0 0.0  40.0 0.0  20.0 0.0
Z O (FIED - T8 - F 2 3 0 0 2 1 0 0 0
AR Y) 100. 0 0.0 0.0 66.7  33.3 0.0 0.0 0.0
e 540 44 99 58 61 3 218 7
% [
i 100. 0 8.1 18.3] 10.7| 11.3 9.8 40.4 1.3
, - 498 36 94 55 57 2 197 7
2 B KB 100. 0 7.2 18.9] 11.0| 11.4 10.4  39.6 1.4
- 103 11 25 25 18 7 16 1
" H 100.0| 10.7/ 24.3 24.3  17.5 6.8/ 15.5 1.0
34 5 8 3 6 2 10 0
B AR 100.0| 14.7  23.5 8.8 17.6 5.9, 29.4 0.0
il 33 2 11 5 3 2 10 0
E|
| hE 100. 0 6.1 33.3] 15.2 9.1 6.1  30.3 0.0
B { o 20 1 2 1 7 2 7 0
= |HHE 100. 0 5.0 10.0 5.0/ 35.0 10.0  35.0 0.0
T 36 5 13 3 5 2 8 0
JUIN - P 100.0| 13.9  36.1 8.3 13.9 5.6/ 22.2 0.0
] 53 11 11 7 9 1 14 0
TOOR) 100.0| 20.8 20.8 13.2  17.0 1.9 26.4 0.0
6 1 2 0 0 1 1 1
E|
=5 100.0)  16.7  33.3 0.0 0.0 16.7 16.7 16.7




[#A]

L,
BB AR 00 USRS () S
L - ks
<K 2
= E DU, A,
Ll g B0
X OmT 5 R
W b L = Lk
N & 2] +b = D i z s
" e ] b F < e~ s
1t =l A &
i RN % [F] 42
5= " JE B
EE);"% % ~
oy %
i ¢ N
Tk 325 251 110 319 16 39 15 12
100.0  30.8]  13.3] 423 5.6 4.7 1.8 1.5
= 153 145 66 187 21 21 7 6
i 100.0]  32.0 14.6] 413 1.6 1.6 1.5 1.3
B g 372 109 14 162 25 18 8 6
100.0] 293 11.8] 435 6.7 1.8 2.2 1.6
- 11 0 0 10 0 0 0 1
0~A41% 100.0 0.0 0.0 90.9 0.0 0.0 0.0 9.1
o 5 1 0 2 0 1 0 1
5~97% 100.0|  20.0 0.0 40.0 0.0 20.0 0.0 20.0
o 6 0 0 6 0 0 0 0
10~145% 100.0 0.0 0.0 100.0 0.0 0.0 0.0 0.0
o 15 2 0 9 2 1 0 1
15~195% 100.0[ 13.3 0.0 600  13.3 6.7 0.0 6.7
o 77 27 2 31 9 7 0 1
20~241. 100.0|  35.1 2.6/ 403 117 9.1 0.0 1.3
o 157 60 8 64 16 7 1 1
25~293. 100.0[ 382 51 40.8]  10.2 1.5 0.6 0.6
I 145 14 13 68 7 10 2 1
30~34is: 100.0[  30.3 9.0 46.9 1.8 6.9 1.4 0.7
P 92 20 12 51 3 2 3 1
% 35~39% 100.0 217 13.0  55.4 3.3 2.2 3.3 1.1
o 72 17 13 32 2 1 1 0
[ ~ [,
Bl 40~ 4di 100.0 236 181 444 2.8 5.6 5.6 0.0
" 52 16 13 22 0 0 0 1
45~493. 100.0]  30.8] 25.0] 42.3 0.0 0.0 0.0 1.9
o 10 3 8 19 1 1 0 0
50~54is 100.0]  20.0]  20.0] 475 2.5 10.0 0.0 0.0
o 14 11 9 18 1 2 2 1
55~59i 100.0|  25.0/ 20.5|  40.9 2.3 1.5 1.5 2.3
o 36 12 9 B 3 0 2 2
60~64i 100.0] 33.3]  25.0] 22.2 8.3 0.0 5.6 5.6
o 24 3 9 5 0 1 0 1
65~69i 100.0 33.3] 375  20.8 0.0 1.2 0.0 1.2
I 19 7 9 2 0 0 1 0
10~T74im: 100.0 36.8] 47.4] 105 0.0 0.0 5.3 0.0
s 30 21 5 2 2 0 0 0
TSR L 100.0]  70.0]  16.7 6.7 6.7 0.0 0.0 0.0
A 311 170 20 82 12 19 3 5
100.0]  54.7 6.4 264 3.9 6.1 1.0 1.6
oA 259 61 75 89 14 10 7 3
% 100.0] 23.6  29.0 344 5.4 3.9 2.7 1.2
LN N 140 14 8 96 11 7 3 1
# 100.0[  10.0 5.7 68.6 7.9 5.0 2.1 0.7
B0 84 7 6 60 6 3 1 1
100.0 8.3 7.1 714 7.1 3.6 1.2 1.2
. 23 2 0 18 2 0 1 0
SALLLE 100.0 8.7 0.0 783 8.7 0.0 1.3 0.0
305 167 19 382 13 19 2 3
i
A 100.0[  54.8 6.2 26.9 1.3 6.2 0.7 1.0
207 19 74 66 8 6 2 2
=1 ”~$H‘
?ﬁ RGO H DU 100.0] 237  35.7] 319 3.9 2.9 1.0 1.0
¥ [RhfeFEb F N FHLL 252 26 11 183 15 7 7 3
w |[SELHBL TEbIBRAH | 100.00  10.3 14 726 6.0 2.8 2.8 1.2
A 16 2 2 1 7 0 1 0
= s
= AR LT i 100.0] 12,5 125  25.0|  43.8 0.0 6.3 0.0
Mz oo BL% A GRAL R 25 5 1 7 2 6 1 0
%, LAl OBRE ) 100.0 20.0 16.0 28.0 8.0 24.0 4.0 0.0
15 5 0 5 1 1 2 1
ol 100.0] 333 0.0 333 6.7 6.7 13.3 6.7




[#A]

L,
BB AR 00 USRS () S
L - ks
<R - D
= E DU, A,
kb i E30)
ES B 5 738
W b L = Lk
N 5 D +b = D % s
i i Fo |- 3 B » ]
Tle o ez b B
1t =l A &
i RN % [F] 42
b= f JE B
E‘Z% - ~
nE " #
JLRES) N
N 825 251 110 379 16 39 15 2
XN
100.0  30.8  13.3] 423 5.6 4.7 1.8 L5
[ 275 28 28 148 38 23 5 5
100.0 102  10.2] 53.8 138 8.4 1.8 1.8
6 1 0 3 0 0 2 0
p REE 100.0]  16.7 0.0, 500 0.0 0.0] 333 0.0
F | HEEE (O~ va 56 7 9 37 1 1 0 1
) 100.0] 125  16.1  66.1 1.8 1.8 0.0 1.8
EFREE (UL —0EA 2 2 0 0 0 0 0 0
) 100.0[  100.0 0.0 0.0 0.0 0.0 0.0 0.0
- 27 3 1 19 2 1 0 1
X 100.0]  11.1 3.7 70.4 7.4 3.7 0.0 3.7
& 9 3 4 I 0 0 ] 0
+ REE
£ 100.0] 333 444 111 0.0 0.0 111 0.0
D RO AR 7 7 S—h 74 40 8 22 0 4 0 0
& (1~ 9Bkt 100.0] 54.1  10.8  29.7 0.0 5.4 0.0 0.0
£l ULV —DEAT DR~ 73 62 3 6 0 0 1 1
" Coay (3MEEEDL 1) 100.0]  84.9 4.1 8.2 0.0 0.0 1.4 1.4
i — DR~ (3 171 48 40 74 1 5 1 2
> L) 100.0] 28.1  23.4) 433 0.6 2.9 0.6 1.2
ER RS (FZAR) - AFE 21 4 4 10 0 1 2 0
DS 100.0]  19.0  19.0] 47.6 0.0 4.8 9.5 0.0
N 24 6 3 9 2 3 1 0
NEEE 100.0] 25.00 125 375 8.3 125 4.2 0.0
. 63 38 8 15 1 0 1 0
HEE R 100.0]  60.3  12.7]  23.8 1.6 0.0 1.6 0.0
B SEAERG % ARE AR— 5 5 0 0 0 0 0 0
e Bl L 100.0[  100.0 0.0 0.0 0.0 0.0 0.0 0.0
Zofs (F{ED - 16 £ 3 2 0 0 0 | 0 0
AZu7el) 100.0]  66.7 0.0 0.0 0.0, 333 0.0 0.0
[ 55 12 10 27 3 2 1 0
100.0 21.8 182  49.1 5.5 3.6 1.8 0.0
10 3 1 3 0 2 1 0
p REE 100.0  30.0  10.0/  30.0 0.0, 200  10.0 0.0
F RS (RO~ 122 27 2 54 5 2 4 4
) 100.0]  22.10  21.3] 443 4.1 1.6 3.3 3.3
HREEE U IL—2HA 5 2 0 3 0 0 0 0
) 100.0]  40.0 0.0,  60.0 0.0 0.0 0.0 0.0
R 12 2 2 6 1 0 1 0
e 100.0 167 167 50.0 8.3 0.0 8.3 0.0
= B 6 0 3 3 0 0 0 0
= 100.0 0.0, 500 500 0.0 0.0 0.0 0.0
O\ REOLEE -7k 20 7 2 8 1 | 1 0
& (1~opktE) 100.0]  35.0  10.0]  40.0 5.0 5.0 5.0 0.0
3| TV —WEAT DR~ 141 59 12 51 8 8 2 1
" Coay (3MEEEDL 1) 100.0]  41.8 8.5 36.2 5.7 5.7 1.4 0.7
% T RORM~ A (3 332 93 34 154 21 23 1 3
= L) 100.0] 28.0  10.2] 46.4 6.3 6.9 1.2 0.9
ER RS (AR - AFE 26 5 7 12 0 1 0 1
DS 100.0]  19.2]  26.9  46.2 0.0 3.8 0.0 3.8
N 10 0 0 8 2 0 0 0
NEEE 100.0 0.0 0.0, 80.0 200 0.0 0.0 0.0
- 49 23 8 15 2 0 0 1
HE -5 100.0] 469  16.3]  30.6 4.1 0.0 0.0 2.0
B NGRS - AR AN — 17 12 1 1 2 0 1 0
e gl 100.0]  70.6 5.9 59 118 0.0 5.9 0.0
Zof (FED - 16 £ 4 | 1 2 0 0 0 0
AZu7el) 100.0  25.0  25.0  50.0 0.0 0.0 0.0 0.0




[#A]

L
TRAAE A RO RS B IR () S
. z
<k >
SR R
rel o WO
x| oAy B am
w  Rooze B vk
™ 5 D b g 2Rix < s
: E oo Tex Lo ow
1t =l A &
[ AN Y % EE%
5o 2 BR
EE% % ~
58 %
e \
NN 825 254 110 349 46 39 15 12
100. 0 30. 8 13.3 42.3 5.6 4.7 1.8 1.5
NS 540 158 68 234 36 25 11 8
e 100. 0 29.3 12.6 43.3 6.7 4.6 2.0 1.5
. - 498 145 64 221 29 22 11 6
5 B KBS 100. 0 29.1 12.9 44. 4 5.8 4.4 2.2 1.2
- 103 37 21 38 2 5 0 0
A 100. 0 35.9 20. 4 36.9 1.9 4.9 0.0 0.0
- 34 6 10 14 1 3 0 0
A i R 100. 0 17.6 29. 4 41.2 2.9 8.8 0.0 0.0
33 9 2 19 1 0 2 0
T 100. 0 27.3 6.1 57.6 3.0 0.0 6.1 0.0
20 7 1 8 3 1 0 0
M 100. 0 35.0 5.0 40. 0 15.0 5.0 0.0 0.0
W e S 36 15 3 12 2 3 0 1
JUM - i 100. 0 41.7 8.3 33.3 5.6 8.3 0.0 2.8
53 18 4 23 1 2 2 3
T OO 100. 0 34.0 7.5 43. 4 1.9 3.8 3.8 5.7
6 4 1 1 0 0 0 0
(=154 100. 0 66. 7 16. 7 16. 7 0.0 0.0 0.0 0.0




[#A]

L.
LR85 A RO U F RO (85 A 80 o

& 1 2 3 4 LL5 ~

il A A A A EA Bl
ik 825 247 157 184 129 76 32
100.0 29.9 19.0 22.3 15.6 9.2 3.9
. 453 139 87 105 75 32 15
| 100.0 30.7 19.2 23.2 16.6 7.1 3.3
il & 372 108 70 79 54 44 17
100.0 29.0 18.8 21.2 14.5 11.8 4.6
11 0 1 2 6 1 1
0~45% 100.0 0.0 9.1 18.2 54.5 9.1 9.1
5 1 0 0 1 2 1
5~97% 100.0 20.0 0.0 0.0 20.0 40.0 20.0
6 0 0 1 4 1 0
10~ 145% 100.0 0.0 0.0 16.7 66.7 16.7 0.0
15 2 1 3 4 4 1
15~ 193% 100.0 13.3 6.7 20.0 26.7 26.7 6.7
77 26 7 9 11 24 0
20~ 247 100.0 33.8 9.1 11.7 14.3 31.2 0.0
157 60 18 35 22 15 7
25~ 291 100.0 38.2 11.5 22.3 14.0 9.6 4.5
145 10 23 41 26 10 5
30~ 345 100.0 27.6 15.9 28.3 17.9 6.9 3.4
92 20 15 31 18 3 5
%‘; 35~395% 100.0 21.7 16.3 33.7 19.6 3.3 5.4
72 17 18 20 9 4 4
A |40~ 445% 100.0 23.6 25.0 27.8 12.5 5.6 5.6
52 16 17 7 6 3 3
45~49i% 100.0 30.8 32.7 13.5 11.5 5.8 5.8
40 7 10 8 10 3 2
50~ 547 100.0 17.5 25.0 20.0 25.0 7.5 5.0
44 10 10 13 7 2 2
55~ 591 100.0 22.7 22.7 29.5 15.9 4.5 4.5
36 12 14 6 1 2 1
60~64i% 100.0 33.3 38.9 16.7 2.8 5.6 2.8
24 8 10 3 3 0 0
65~69i% 100.0 33.3 41.7 12.5 12.5 0.0 0.0
19 7 9 2 0 1 0
10~ 745 100.0 36.8 47.4 10.5 0.0 5.3 0.0
N 30 21 4 3 1 1 0
75m b 100.0 70.0 13.3 10.0 3.3 3.3 0.0
A 311 166 38 14 31 22 7
100.0 53.4 12.2 14.1 10.9 7.1 2.3
20 259 58 100 15 25 18 13
® 100.0 22.4 38.6 17.4 9.7 6.9 5.0
&) 3N 140 14 13 7 14 18 4
pe) 100.0 10.0 9.3 55.0 10.0 12.9 2.9
P AN 84 7 4 16 47 6 4
100.0 8.3 4.8 19.0 56.0 7.1 4.8
R 23 2 0 2 7 10 2
SAUE 100.0 8.7 0.0 8.7 30.4 43.5 8.7
m 254 247 4 1 2 0 0
HiH 100.0 97.2 1.6 0.4 0.8 0.0 0.0
. e 110 0 107 1 1 1 0
i IO Ir 0 it 1000, 00 973 09 09 09 0.0
g |ImE TEB IR B L 349 0 33 158 109 31 18
3 FLBETED DB 100.0 0.0 9.5 45.3 31.2 8.9 5.2
o m 16 0 1 2 7 33 3
- S HEAARIEL TS A 100.0 0.0 2.2 4.3 15.2 71.7 6.5
W Z o L5 (LA 39 0 5 14 10 B 2
B AL OBRLRE) 100.0 0.0 12.8 35.9 25.6 20.5 5.1
15 0 5 6 0 2 2
Tt 100.0 0.0 33.3 40.0 0.0 13.3 13.3
" 305 163 36 13 33 21 9
HL A 100.0 53.4 11.8 14.1 10.8 6.9 3.0
. e 207 47 84 38 20 11 7
i HRIGO IOt 100.0] 227 406 184 9.7 53 3.4
i [ Rl tEh  Fx M BEbLL 252 26 30 91 62 32 11
3 FLBETED DB 100.0 10.3 11.9 36.1 24.6 12.7 4.4
o m 16 2 1 4 4 5 0
i~ S HEAATRIEL TS A 100.0 12.5 6.3 25.0 25.0 31.3 0.0
B\t e 4 (R 25 5 4 4 6 4 2
R, AR ARY OEELE ) 100.0 20.0 16.0 16.0 24.0 16.0 8.0
15 4 2 3 3 2 1
Tt 100.0 26.7 13.3 20.0 20.0 13.3 6.7




[#A]

L.
LR85 A RO U F RO (85 A 80 o

& 1 2 3 4 LL5 ~

il A A A A EA Bl
ik 825 247 157 184 129 76 32
100.0 29.9 19.0 22.3 15.6 9.2 3.9
fm— 275 25 17 77 59 56 11
100.0 9.1 17.1 28.0 21.5 20.4 4.0
6 1 3 2 0 0 0
Si Rk 100.0 16.7 50.0 33.3 0.0 0.0 0.0
F EREE (RO~ Ta 56 6 12 18 13 2 5
V) 100.0 10.7 21.4 32.1 23.2 3.6 8.9
HREE (T —bH A 2 2 0 0 0 0 0
) 100.0|  100.0 0.0 0.0 0.0 0.0 0.0
— 27 3 4 10 5 3 2
. F 100.0 111 148 370 185 111 74
E8 9 3 5 0 1 0 0
£ R 100.0 33.3 55.6 0.0 11.1 0.0 0.0
D RMofefEs- 73—k 74 39 11 16 8 0 0
i (1~2pk ) 100.0 52.7 14.9 21.6 10.8 0.0 0.0
£l T — LB AT DR~ 73 61 4 3 2 2 1
— viar (3RERLLE) 100.0 83.6 5.5 4.1 2.7 2.7 1.4
il —fEO R~y ar (35 171 18 16 34 29 7 7
- | &) 100.0 28.1 26.9 19.9 17.0 4.1 4.1
K| HiAE (B M) -tk 21 4 6 9 1 1 0
DfEE 100.0 19.0 28.6 42.9 4.8 4.8 0.0
Py 24 6 5 6 4 2 1
NEFEE 100.0] 25.0  20.8] 25.0 167 8.3 4.2
R 63 37 10 7 5 2 2
e R 100.0] 587 159 11.1 7.9 3.2 3.2
B EALRE R AR A — 5 5 0 0 0 0 0
e R A 100.0|  100.0 0.0 0.0 0.0 0.0 0.0
Z O (FIED - T8 - F 2 3 2 1 0 0 0 0
ALY 100.0 66.7 33.3 0.0 0.0 0.0 0.0
P 55 12 15 12 10 1 2
100.0 21.8 27.3 21.8 18.2 7.3 3.6
10 3 4 2 0 1 0
Si Rk 100.0 30.0 40.0 20.0 0.0 10.0 0.0
F O EFREE (RO~ Ta 122 27 29 28 22 11 5
V) 100.0 22.1 23.8 23.0 18.0 9.0 4.1
HFEFEE (T —22A 5 2 0 1 1 1 0
) 100.0 40.0 0.0 20.0 20.0 20.0 0.0
— 12 2 2 7 0 1 0
" P 100.0 16.7 16.7 58.3 0.0 8.3 0.0
E8 6 0 2 2 2 0 0
£ RRE 100.0 0.0 33.3 33.3 33.3 0.0 0.0
D R ofefEs- 73—k 20 7 3 4 1 3 2
i (1~2pk ) 100.0 35.0 15.0 20.0 5.0 15.0 10.0
3 T N—WEAT DR~ 141 58 22 19 22 14 6
— viay (3RERLLE) 100.0 41.1 15.6 13.5 15.6 9.9 4.3
# —fEO R~y ar (35 332 89 54 87 54 34 14
- | &) 100.0 26.8 16.3 26.2 16.3 10.2 4.2
F I ER TS (IHAM]) - 24 26 5 9 7 4 0 1
DfEFE 100.0 19.2 34.6 26.9 15.4 0.0 3.8
P 10 0 0 3 5 2 0
NEEE 100.0 0.0 0.0 30.0 50.0 20.0 0.0
R 49 21 10 9 5 3 1
e R 100.0] 429 204 184  10.2 6.1 2.0
B GEALRE R AR A — 17 12 2 0 2 1 0
e R A 100.0 70.6 11.8 0.0 11.8 5.9 0.0
Z O (FIED - T8 - F 2 4 1 1 1 1 0 0
ALRE) 100.0 25.0 25.0 25.0 25.0 0.0 0.0




[#A]

JL .
R4S AR R B IR (85 A0 o
{E} 1 2 3 4 L5 S
F ol A kA m
NS 825 247 157 184 129 76 32
100. 0 29.9 19.0 22.3 15.6 9.2 3.9
NE— 540 152 105 129 82 51 21
ik 100. 0 28.1 19.4 23.9 15.2 9.4 3.9
. S 498 139 98 124 77 41 19
2 BRBAE i 100. 0 27.9 19.7 24.9 15.5 8.2 3.8
P 103 37 26 16 17 5 2
" S 100. 0 35.9 25.2 15.5 16.5 4.9 1.9
34 6 9 10 6 3 0
b AR 100. 0 17.6 26.5 29.4 17.6 8.8 0.0
) 33 9 3 11 4 6 0
E|
— P 100. 0 27.3 9.1 33.3 12. 1 18.2 0.0
AT [ o 20 7 3 2 1 1 0
= | 100. 0 35.0 15.0 10.0 20.0 20.0 0.0
W e Sty 36 15 4 3 8 3 3
JUM Mﬁ 100. 0 41.7 11.1 8.3 22.2 8.3 8.3
’ 53 17 6 13 8 3 6
T OO U7 100. 0 32.1 11.3 24.5 15. 1 5.7 11.3
6 4 1 0 0 1 0
E|
15+ 100. 0 66. 7 16. 7 0.0 0.0 16.7 0.0




[#A]

Jo -4 4y - —— S I J:E%)\
B 5. 85 A D[R G F ik (FEREEER) TR %
Elx— = RZ
% Tk i o
‘ i e LN U
i o LE Y O RO z
A & PR b7 Rl B o A~
7 it 5 [LE #E R W
H I 5<t L | JE
e R T |~
DL E A S
-3 7 %) D
2ol 825 305 207 252 16 25 15 5
100.0 37.0 25.1 30.5 1.9 3.0 1.8 0.6
. 453 161 113 152 6 10 8 3
| 100.0 35.5 24.9 33.6 1.3 2.2 1.8 0.7
il & 372 144 94 100 10 15 7 2
100.0 38.7 25.3 26.9 2.7 4.0 1.9 0.5
11 0 0 9 0 0 0 2
0~47% 100.0 0.0 0.0 818 0.0 0.0 0.0 18.2
5 1 1 2 0 1 0 0
5~97% 100.0 20.0 20.0  40.0 0.0 20.0 0.0 0.0
6 0 0 1 1 0 1 0
10~ 145% 100.0 0.0 0.0  66.7 16.7 0.0 16.7 0.0
15 9 0 5 0 1 0 0
15~ 193% 100.0|  60.0 0.0 33.3 0.0 6.7 0.0 0.0
77 16 9 15 1 6 0 0
20~ 247 100.0 59.7 11.7 19.5 1.3 7.8 0.0 0.0
157 60 52 33 2 2 6 2
25~ 291 100.0 38.2 33.1 21.0 1.3 1.3 3.8 1.3
145 16 39 53 1 3 3 0
30~ 345 100.0 31.7 26.9 36.6 0.7 2.1 2.1 0.0
92 20 29 41 1 0 1 0
%‘; 35~ 395 100.0 21.7 31.5 44.6 1.1 0.0 1.1 0.0
72 22 22 24 1 2 1 0
| ~ 3
A |40~ 445% 100.0 30.6 30.6 33.3 1.4 2.8 1.4 0.0
52 15 9 21 2 5 0 0
45~49i% 100.0 28.8 17.3 40.4 3.8 9.6 0.0 0.0
40 16 8 14 1 1 0 0
50~ 547 100.0|  40.0 20.0 35.0 2.5 2.5 0.0 0.0
44 20 11 11 1 0 1 0
55~ 591 100.0|  45.5 25.0 25.0 2.3 0.0 2.3 0.0
36 15 8 8 1 2 1 1
60~64i% 100.0|  41.7 22.2 22.2 2.8 5.6 2.8 2.8
24 11 7 5 0 1 0 0
65~69i% 100.0|  45.8 29.2 20.8 0.0 4.2 0.0 0.0
19 8 7 4 0 0 0 0
10~ 745 100.0]  42.1 36.8 21.1 0.0 0.0 0.0 0.0
N 30 16 5 3 4 1 1 0
75m b 100.0 53.3 16.7 10.0 13.3 3.3 3.3 0.0
311 301 3 2 0 0 4 1
1A 100.0|  96.8 1.0 0.6 0.0 0.0 1.3 0.3
20 259 3 204 37 0 6 9 0
® 100.0 1.2 78.8 14.3 0.0 2.3 3.5 0.0
& 3 140 0 0 127 1 10 2 0
#H 100.0 0.0 0.0 90.7 0.7 7.1 1.4 0.0
iy 84 1 0 71 6 6 0 0
A 100.0 1.2 0.0 84.5 7.1 7.1 0.0 0.0
R 23 0 0 12 8 3 0 0
SAUE 100.0 0.0 0.0 52.2 34.8 13.0 0.0 0.0
m 254 167 19 26 2 5 5 0
HH 100.0|  65.7 19.3 10.2 0.8 2.0 2.0 0.0
. . 110 19 74 11 2 4 0 0
i HRIGO IOt 1000 173 673 10.0 1.8 36 0.0 0.0
g |ImE TEB IR HBILL 349 82 66 183 4 7 5 2
5 EZBETEH DDA 100.0 23.5 18.9 52.4 1.1 2.0 1.4 0.6
S o 16 13 8 15 7 2 1 0
- S HEAATRIEL T B A 100.0 28.3 17.4 32.6 15.2 4.3 2.2 0.0
M | ot B (AR 39 19 6 7 0 6 1 0
. AL OEIELFEE) 100.0|  48.7 15.4 17.9 0.0 15.4 2.6 0.0
15 2 2 7 1 1 2 0
Tt 100.0 13.3 13.3 16.7 6.7 6.7 13.3 0.0




[#A]

)T—E—Fq5 %]\/( — s S g I J:EKL}\
' R5. 85 At O Rl JE SR (GEEE) TR0

Elx— = RZ

i EBh (B

i o HE L N RO 2
A & 7 w— b7 MR L B S N
7 it o L R RRE W

H I 5<t L | JE

o R T |~

ﬁ? D&E W s

-3 7 %) DA
ik 825 305 207 252 16 25 15 5
100.0 37.0 25.1 30.5 1.9 3.0 1.8 0.6
= 275 112 75 62 9 8 8 1
100.0 40.7 27.3 22.5 3.3 2.9 2.9 0.4
6 2 2 2 0 0 0 0
FF Rk 100.0 33.3 33.3 33.3 0.0 0.0 0.0 0.0
F EREE (RO~ e 56 20 16 19 0 0 1 0
V) 100.0 35.7 28.6 33.9 0.0 0.0 1.8 0.0
HRIEE (T —bH A 2 1 0 1 0 0 0 0
) 100.0 50.0 0.0 50.0 0.0 0.0 0.0 0.0
e 27 8 3 14 0 2 0 0
i 100.0 29.6 11.1 51.9 0.0 7.4 0.0 0.0
9 5 3 1 0 0 0 0
£ Rk 100.0 55.6 33.3 11.1 0.0 0.0 0.0 0.0
D REosefEE- 73—k 74 28 17 24 1 2 2 0
i (1~2pk ) 100.0 37.8 23.0 32.4 1.4 2.7 2.7 0.0
£l T — LB AT DR~ 73 39 19 10 0 1 2 2
— viar (3RERLLE) 100.0 53.4 26.0 13.7 0.0 1.4 2.7 2.7
il —fEO R~y ar (35 171 42 45 72 3 7 1 1
< | &) 100.0 24.6 26.3 42.1 1.8 4.1 0.6 0.6
F I ER TS (IHAM) -4 21 6 5 8 1 1 0 0
DfEE 100.0 28.6 23.8 38.1 4.8 4.8 0.0 0.0
Py 24 5 4 11 2 2 0 0
NEFEE 100.0] 20.8  16.7] 45.8 8.3 8.3 0.0 0.0
e 63 24 15 23 0 0 1 0
e R 100.0] 381 238 365 0.0 0.0 1.6 0.0
B GEALRE R AR A — 5 5 0 0 0 0 0 0
el T 100.0|  100.0 0.0 0.0 0.0 0.0 0.0 0.0
Z O (FIED - T - F 2 3 2 0 1 0 0 0 0
ALRE) 100.0 66.7 0.0 33.3 0.0 0.0 0.0 0.0
P 55 5 11 26 6 7 0 0
100.0 9.1 20.0 47.3 10.9 12.7 0.0 0.0
10 3 2 3 0 1 1 0
Fr R 100.0 30.0 20.0 30.0 0.0 10.0 10.0 0.0
F | EFEEE (D~ e 122 22 34 59 2 2 2 1
V) 100.0 18.0 27.9 48.4 1.6 1.6 1.6 0.8
HREE (T —bH A 5 4 1 0 0 0 0 0
) 100.0 80.0 20.0 0.0 0.0 0.0 0.0 0.0
P 12 1 3 8 0 0 0 0
- 100.0 8.3 25.0 66.7 0.0 0.0 0.0 0.0
6 0 2 3 1 0 0 0
£ R 100.0 0.0 33.3 50.0 16.7 0.0 0.0 0.0
2] RoxbFzE -7/ 3—k 20 7 5 6 1 1 0 0
i (1~2pk ) 100.0 35.0 25.0 30.0 5.0 5.0 0.0 0.0
£l T —BEAT D R~ 141 114 17 7 1 1 0 1
— viar (3RERLLE) 100.0 80.9 12.1 5.0 0.7 0.7 0.0 0.7
# —fEO R~ ar (35 332 99 106 107 1 9 9 1
- | &) 100.0 29.8 31.9 32.2 0.3 2.7 2.7 0.3
F I ER s (IHAM]) - 24 26 6 8 7 0 3 1 1
DfEFE 100.0 23.1 30.8 26.9 0.0 11.5 3.8 3.8
N 10 0 1 8 1 0 0 0
ANEEE 100.0 0.0 10.0 80.0 10.0 0.0 0.0 0.0
IR 49 23 13 13 0 0 0 0
e R 100.0] 469 265 265 0.0 0.0 0.0 0.0
B GEALRE R AR A — 17 13 1 0 1 0 2 0
el T 100.0 76.5 5.9 0.0 5.9 0.0 11.8 0.0
Z O (FIED - T - F 2 4 0 0 2 2 0 0 0
ALRE) 100.0 0.0 0.0 50.0 50.0 0.0 0.0 0.0




[z A]
JL
TIN5 MG A B B % (KR S
virdl = | gz
% Tk i o
I T
BB emr 2 ER0
R I W I T
| ow 2 Maly we mex o oW
# 9% B<t L EAR
e BiF— T e
s 2 ﬁ‘i v s
gz 2 2Fih
NS 825 305 207 252 16 25 15 5
100. 0 37.0 25.1 30.5 1.9 3.0 1.8 0.6
- g% [ 540 185 151 156 11 19 13 5
i 100. 0 34.3 28.0 28.9 2.0 3.5 2.4 0.9
- e 498 166 143 144 10 17 13 5
D B R 100. 0 33.3 28.7 28.9 2.0 3.4 2.6 1.0
P 103 39 26 35 1 2 0 0
" H 100. 0 37.9 25.2 34.0 1.0 1.9 0.0 0.0
34 11 11 10 1 1 0 0
¥ A R 100. 0 32.4 32.4 29.4 2.9 2.9 0.0 0.0
illl 33 15 3 14 0 0 1 0
£
— I 100. 0 45.5 9.1 42. 4 0.0 0.0 3.0 0.0
Al i 20 13 2 4 1 0 0 0
= [E 100. 0 65.0 10.0 20.0 5.0 0.0 0.0 0.0
W e Sty 36 19 6 8 0 2 1 0
JUI - i 100. 0 52.8 16. 7 22.2 0.0 5.6 2.8 0.0
' 53 22 6 22 2 1 0 0
T OO 100. 0 41.5 11.3 41.5 3.8 1.9 0.0 0.0
6 1 2 3 0 0 0 0
£
=% 100. 0 16. 7 33.3 50.0 0.0 0.0 0.0 0.0




YN

B 6(1). o FAE (HE ARl BN
. . ¥ (5 A A1) TE: %
; IEINEG 7 N IS
% e W m e @ om L NI I 5
" \ 5w om ok o T o xn Tk 28 e T e v\t e
A E L mE o ow L w | % ox % % T B g B PN IR AT I S e -
a NI 2| Al N N N N A | NG R EA S | R |y R
; g DO RB AL B R ee 2% Byl e g ER g BRI g 2By
# ¥ 0% % w7 Gowm | o o om Sy Fea T HOE ps 2% < gy o e it
£ : R X W B B oM v R 2w T8 7w omm Fp oee <m o N :
W " £ 0% % oa*. 170 B W EORETE Coos % - *
7 “ %% v B . > i
NS 825 1 0 0 25/ 108 7 47 15 60 41 15 30 31 17 23 80 1 2 6 8 29 36 39 68 35 74 23
100.0 0.1 0.0 0.0 3.0/ 13.1 0.8 5.7 1.8 7.3 5.0 1.8 3.6 3.8 2.1 2.8 9.7 0.1 0.2 0.7 1.0 3.5 4.4 0.5 4.7 8.2 4.2 9.0 2.8
B 453 0 0 20 83 5 38 13 36 24 10 21 17 7 11 30 0 2 1 5 16 27 2 10 35 0 31 8
P 7 100.0 0.2 0.0 0.0 4.4 18.3 1.1 8.4 2.9 7.9 5.3 2.2 4.6 3.8 1.5 2.4 6.6 0.0 0.4 0.2 1.1 3.5 6.0 0.4 2.2 7.7 0.0 6.8 1.8
il # 372 0 0 0 5 25 2 9 2 24 17 5 9 14 10 12 50 1 0 5 3 13 9 2 29 33 35 43 15
100.0 0.0 0.0 0.0 1.3 6.7 0.5 2.4 0.5 6.5 4.6 1.3 2.4 3.8 2.7 3.2 13.4 0.3 0.0 1.3 0.8 3.5 2.4 0.5 7.8 8.9 9.4 11.6 4.0
0~47% 11 0 0 0 0 1 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 7 2
100.0 0.0 0.0 0.0 0.0 9.1 0.0 0.0 0.0 0.0 9.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ 63.6, 18.2
5~071% 5 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 1 0 0 0 0 0 0 0 0 1 0 1 1
100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ 20.0 0.0 0.0/ 20.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ 20.0 0.0/ 20.0, 20.0
10~1475% 6 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 0 1 0
100.0 0.0 0.0 0.0 0.0/ 16.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ 66.7 0.0/ 16.7 0.0
15~192% 15 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 14 0 0 0
100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.7 0.0 0.0/ 93.3 0.0 0.0 0.0
20~241% 7 1 0 0 1 4 0 2 1 0 1 0 1 5 3 2 4 0 0 0 1 3 3 0 7 34 2 2 0
100.0 1.3 0.0 0.0 1.3 5.2 0.0 2.6 1.3 0.0 1.3 0.0 1.3 6.5 3.9 2.6 5.2 0.0 0.0 0.0 1.3 3.9 3.9 0.0 9.1 44.2 2.6 2.6 0.0
25~291% 157 0 0 0 3 15 1 9 3 14 9 3 5 8 4 7 27 0 0 2 0 5 12 0 8 10 5 7 0
100.0 0.0 0.0 0.0 1.9 9.6 0.6 5.7 1.9 8.9 5.7 1.9 3.2 5.1 2.5 4.5 17.2 0.0 0.0 1.3 0.0 3.2 7.6 0.0 5.1 6.4 3.2 4.5 0.0
30~341% 145 0 0 0 3 26 4 12 3 14 8 1 6 3 4 4 16 0 1 2 2 8 2 0 8 3 8 7 0
100.0 0.0 0.0 0.0 2.1 17.9 2.8 8.3 2.1 9.7 5.5 0.7 4.1 2.1 2.8 2.8] 11.0 0.0 0.7 1.4 1.4 5.5 1.4 0.0 5.5 2.1 5.5 4.8 0.0
I 35~397% 92 0 0 0 1 16 0 8 2 11 7 2 5 2 2 1 9 1 0 0 2 3 2 2 3 1 6 4 2
M 100.0 0.0 0.0 0.0 1.1 17.4 0.0 8.7 2.2) 12.0 7.6 2.2 5.4 2.2 2.2 1.1 9.8 1.1 0.0 0.0 2.2 3.3 2.2 2.2 3.3 1.1 6.5 4.3 2.2
B |40~447% 72 0 0 0 6 11 0 7 2 6 7 1 4 6 3 0 9 0 0 1 0 0 2 1 3 0 1 2 0
100.0 0.0 0.0 0.0 8.3] 15.3 0.0 9.7 2.8 8.3 9.7 1.4 5.6 8.3 4.2 0.0/ 12.5 0.0 0.0 1.4 0.0 0.0 2.8 1.4 4.2 0.0 1.4 2.8 0.0
15~497% 52 0 0 0 1 12 0 4 1 3 3 1 6 2 0 1 6 0 1 0 0 2 1 0 2 1 3 0 2
100.0 0.0 0.0 0.0 1.9 23.1 0.0 7.7 1.9 5.8 5.8 1.9/ 11.5 3.8 0.0 1.9/ 11.5 0.0 1.9 0.0 0.0 3.8 1.9 0.0 3.8 1.9 5.8 0.0 3.8
50~541% 40 0 0 0 3 5 1 4 0 5 3 0 0 2 0 1 3 0 0 1 1 3 2 0 1 0 2 1 2
100.0 0.0 0.0 0.0 7.5 12.5 2.5/ 10.0 0.0/ 12.5 7.5 0.0 0.0 5.0 0.0 2.5 7.5 0.0 0.0 2.5 2.5 7.5 5.0 0.0 2.5 0.0 5.0 2.5 5.0
55~591% 44 0 0 0 2 9 0 0 0 2 1 3 1 1 0 3 1 0 0 0 0 2 9 1 3 0 1 4 1
100.0 0.0 0.0 0.0 4.5 20.5 0.0 0.0 0.0 4.5 2.3 6.8 2.3 2.3 0.0 6.8 2.3 0.0 0.0 0.0 0.0 4.5] 20.5 2.3 6.8 0.0 2.3 9.1 2.3
60~641% 36 0 0 0 2 7 1 0 2 2 0 0 1 0 1 3 4 0 0 0 0 0 2 0 4 0 1 3 3
100.0 0.0 0.0 0.0 5.6/ 19.4 2.8 0.0 5.6 5.6 0.0 0.0 2.8 0.0 2.8 8.3 11.1 0.0 0.0 0.0 0.0 0.0 5.6 0.0/ 11.1 0.0 2.8 8.3 8.3
65~691% 24 0 0 0 1 0 0 1 1 1 1 1 1 0 0 0 0 0 0 0 2 2 0 0 0 0 2 7 4
100.0 0.0 0.0 0.0 4.2 0.0 0.0 4.2 4.2 4.2 4.2 4.2 4.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.3 8.3 0.0 0.0 0.0 0.0 8.3] 29.2] 16.7
T0~T41% 19 0 0 0 2 1 0 0 0 2 0 3 0 1 0 1 0 0 0 0 0 1 0 0 0 0 2 3 3
100.0 0.0 0.0 0.0/ 10.5 5.3 0.0 0.0 0.0/ 10.5 0.0/ 15.8 0.0 5.3 0.0 5.3 0.0 0.0 0.0 0.0 0.0 5.3 0.0 0.0 0.0 0.0/ 10.5| 15.8) 15.8
T5EEL L 30 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 25 3
100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.7 83.3 10.0
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100.0 0.1 0.0 0.0 3.0 131 08 57 1.8 73/ 50 1.8 36 3.8 21 28 97 01 02 07 1.0 35 44 05 4.7 82 42 9.0 2.8
A 311 0 0 9/ 31 2/ 18 4 17 13 6 11| 11 4 100 22 0 1 2 3 15 19 22 40 5 35 9
100.0 0.3 0.0 0.0 2.9 100 0.6 58 1.3 55 4.2/ 1.9 35 35 13 32 71 00 0.3 0.6 1.0 48 6.1 03 7.1 129 1.6 11.3 2.9
90 259 0 0 0 8 40 319 4 23 13 6 8 11 5 8 33 1 0 2 3010 11 1 7 8 14 16 5
% 100.0 0.0 0.0 0.0 3.1 154 1.2/ 7.3 1.5 89| 50 23 31 42 1.9 3.1 127 04 0.0 0.8 1.2/ 39 42 04 27/ 3.1 54 62 1.9
] 30 140 0 0 0 40 21 1 8 5 13 6 2 4 7 4 4 14 0 0 2 2 3 5 1 7 7 6/ 11 3
B 100.0 0.0 0.0 0.0 29 150 0.7 57 3.6 93 4.3/ 1.4/ 29 50 29 29 100 00 00/ 1.4 1.4 21 36 07 50 50 4.3 7.9 2.1
L an 84 0 0 0 4 14 1 2 1 5 7 1 5 1 2 1 6 0 1 0 0 1 1 1 0 9 9 8 4
100.0 0.0 0.0 0.0 4.8 167 1.2 24 1.2/ 6.0/ 83 1.2/ 60 1.2 24 12 71 00 1.2/ 0.0 0.0 1.2 1.2/ 12 0.0 10.7] 10.7 9.5 4.8
5k 23 0 0 0 0 1 0 0 1 2 0 0 2 1 1 0 5 0 0 0 0 0 0 0 2 4 1 3 0
100.0 0.0 0.0 0.0 0.0, 43 0.0 00 43 87 0.0 0.0 87 43 43 00 21.7 00 0.0 0.0 0.0 00 00 00 87 174 4.3 13.0 0.0
. 275 1 0 0 8 20 2 12 5 18 9 4 9/ 10/ 10 10 22 1 0 1 4 13 13 2 20 30 11 34 6
100.0 04 0.0 0.0 29 73 0.7 44 1.8/ 6.5 3.3/ 15 3.3 3.6 3.6 36 80 04 00 04 1.5 47 47 07 7.3/ 109 4.0 124 2.2
ERE 6 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 2 0 1 1 0
£ 100.0 0.0 0.0 0.0 0.0, 0.0 0.0 0.0 00/ 00/ 0.0/ 0.0 0.0 0.0 00 00 333 00 0.0 0.0 0.0 00 00 00 333 0.0 16.7 16.7 0.0
FH O JEFEE (o~ val 56 0 0 0 3 7 0 4 1 7 4 1 2 2 3 3 3 0 0 0 1 2 2 1 0 5 1 3 1
¥) 100.0 0.0 0.0 0.0 5.4 125 0.0 7.1 1.8/ 12,5 7.1 1.8/ 3.6, 3.6 54 54 54 00 0.0 0.0 1.8 3.6 36 1.8 00 89 1.8 54 1.8
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7) 100.0 0.0 0.0 0.0 0.0, 0.0 0.0 0.0 00/ 0.0 50.0/ 0.0/ 0.0, 0.0 0.0 00 00 00 0.0 0.0 0.0 00 00 00 0.0 0.0 0.0 0.0 50.0
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100.0 0.0 0.0 0.0 3.7 185 0.0 3.7 00| 00/ 3.7 0.0/ 37 0.0 00 74 74 00 00 37 0.0 37 74 00 00 7.4 11.1 148 3.7
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%= 100.0 0.0 0.0 0.0 0.0 11.I,_ 0.0 0.0 00 0.0 0.0/ 0.0 0.0 11.I_ 0.0 00 00 00 0.0/ 0.0 0.0 00 00 00 1.1/ 0.0 0.0 556 11.1
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i b (1~ 2R gE) 100.0 0.0 0.0 0.0 2.7 122 0.0 54 14| 81| 41| 2.7 2.7 54 1.4 41 176 00 1.4/ 1.4 0.0 0.0 54 00 6.8 4.1/ 8.1 27 27
| T N—DEAT DR 73 0 0 0 4 11 1 6 2 7 5 0 1 4 2 0 8 0 0 0 0 5 3 0 210 0 1 1
-~ ~rar GRE#LE) [100.0f 0.0/ 0.0 0.0 55 151 1.4, 82/ 2.7 96 68 00 14 55 27 0.0 11.0 0.0/ 0.0 0.0 0.0 6.8 41 00 27 137 00 14 14
Al —oRwrvar 3 | 17 0 0 0 6 32 o 12 30 14 11 6 9 6 0 4 21 0 0 3 1 5 2 1 4 11 8 10 2
T s | REELLE) 100.0 0.0 0.0 0.0 3.5 187 0.0 7.0 1.8 82 6.4 3.5 53 35 00 23 123 00 0.0 1.8 0.6 29 1.2/ 06 23/ 6.4 4.7 58 1.2
F i (R AH) « 2k 21 0 0 0 0 3 0 1 2 2 1 2 3 0 0 0 2 0 0 0 0 0 1 0 2 1 0 1 0
DEE 100.0 0.0 0.0 0.0 0.0 143 0.0 48 95 9.5 4.8 9.5 143 0.0 0.0 00 95 00 0.0 0.0 0.0 0.0 48 00 9.5 4.8 0.0 4.8 0.0
N 24 0 0 0 0 2 1 2 1 2 1 0 1 1 0 0 2 0 0 0 0 2 0 0 0 1 1 5 2
100.0 0.0 0.0 0.0 0.0 83 42 83 42/ 83| 4.2/ 0.0 4.2 42 00 00 83 00 0.0 0.0 0.0 83 00 00 00 4.2 4.2 208 8.3
- 63 0 0 0 1 16 3 4 0 4 5 0 2 3 1 1 4 0 0 0 2 1 8 0 2 3 3 0 0
100.0 0.0 00 0.0 1.6 254 4.8 6.3 00| 6.3 7.9/ 0.0 3.2 48 1.6 1.6 6.3 00 0.0 0.0 3.2 1.6 127 00 3.2/ 48 4.8 0.0, 0.0
B BRI AR AR — 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 5 0
A i 1 EE 100.0 0.0 0.0, 0.0 0.0 0.0 0.0 00 0.0 00/ 00 00 00 00 00 00 00 00 0.0 0.0 0.0 0.0 0.0/ 0.0/ 00 00 0.0 100.0 0.0
A (D - T -1 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 1 1 0 0 0
FRIABIRE) 100.0 0.0 0.0 0.0 0.0, 0.0 0.0 00 00 00 00 0.0 0.0 0.0 00 00 00 00 333 0.0 0.0 00 00 00 333 333 0.0 0.0 0.0
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ERE 10 0 0 0 0 2 0 0 0 1 0 0 0 0 0 1 1 0 0 0 0 0 0 0 1 0 0 3 1
£ 100.0| 0.0/ 0.0 0.0/ 0.0/ 20.0 0.0 0.0/ 0.0 10.0, 0.0, 0.0 0.0/ 0.0 0.0 10.0] 10.0, 0.0, 0.0 0.0 0.0 0.0 0.0 0.0 10.0, 0.0 0.0/ 30.0/ 10.0
F | FEEE(—O~rTal 122 0 0 0 4 28 2 7 1 5 9 1 4 4 3 3 8 0 1 1 1 6 5 2 3 8 7 9 0
V) 100.0] 0.0/ 0.0 0.0| 3.3 23.0 1.6/ 57/ 08 4.1 7.4 08 33| 33 25 25 66 00 08 08 0.8 49 41 1.6 25 6.6 57 7.4 0.0
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) 100.0| 0.0/ 0.0 0.0, 0.0/ 0.0 0.0/ 20.0] 0.0 20.0 0.0, 0.0 00/ 0.0 0.0 00 0.0 0.0 00/ 00 0.0 0.0/ 00 0.0 0.0 200 200 0.0 20.0
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100.0| 0.0/ 0.0 0.0/ 0.0/ 250 0.0 0.0/ 00 250 0.0 00 83 0.0 00 00 83 0.0 00 00 0.0 00 00 0.0 83 00 167 83 0.0
1 ERE 6 0 0 0 0 1 0 0 0 0 0 0 0 2 0 0 1 0 0 0 0 0 0 0 1 0 0 0 1
e 100.0| 0.0/ 0.0 0.0/ 0.0 16.7 0.0 0.0/ 0.0 0.0, 0.0 00 0.0/ 333 0.0 0.0 167 0.0 00/ 0.0 0.0, 0.0/ 00 0.0 16.7 0.0 00 0.0 16.7
» RBEOALEE T /35— 20 0 0 0 0 1 0 0 1 3 1 0 1 0 1 0 3 0 0 0 0 0 0 0 1 2 0 5 1
il b (1~2p%E) 100.0 0.0/ 0.0, 0.0/ 0.0/ 50 0.0/ 0.0/ 50 150 50 0.0 50/ 0.0, 50 00 150 0.0, 0.0/ 0.0 0.0, 0.0/ 00 0.0 5.0 100 0.0 25.0 5.0
B T2 —WEAT D B 141 0 0 5 11 1 11 1 12 8 3 5 8 2 3 7 0 0 1 2 7 8 0o 14 20 1 7 3
~ ~ iar GRS E) | 1000 07 00 0.0 35 7.8 0.7 7.8 07 85 57 21/ 35 57 1.4 21 50 00 00/ 0.7 1.4 50 57 00 99 142 0.7 5.0 2.1
1 — ORI~ var (3 | 332 0 0 0 10/ 39 320 71 21 15 6 12| 12 6 15 48 1 1 4 4 13 12 2l 16 24 17 18 6
| A REELLL) 100.0] 0.0/ 0.0 0.0/ 3.0/ 11.7 0.9 6.0 21 63 45 1.8 3.6/ 3.6 18 45 145 0.3 03] 1.2 1.2 39 36 06 4.8 7.2 51 54 18
F s (DA - 2% 26 0 0 0 1 2 0 3 2 1 3 1 3 2 2 0 1 0 0 0 0 1 1 0 0 1 0 1 1
DIEE 100.0/ 0.0/ 0.0, 0.0/ 3.8 7.7 0.0 11.5| 7.7 3.8 115 3.8 11.5 7.7 7.7 0.0/ 3.8 0.0, 0.0/ 0.0 0.0, 38 38 0.0 0.0 38 00 38 38
N 10 0 0 0 1 2 0 0 0 1 0 1 1 0 1 0 1 0 0 0 0 0 0 0 0 1 0 1 0
100.0| 0.0/ 0.0, 0.0/ 10.0/ 20.0 0.0/ 0.0/ 0.0 10.0, 0.0, 10.0 10.0| 0.0, 10.0, 0.0| 10.0, 0.0, 0.0 0.0 0.0 0.0 0.0 0.0 0.0/ 10.0, 0.0 10.0/ 0.0
g 49 0 0 0 1 12 1 2 2 5 4 0 1 1 0 0 0 0 0 0 0 0 6 0 1 6 3 2 2
100.0] 0.0/ 0.0 0.0] 2.0/ 245 2.0 4.1/ 4.1 102 82 0.0 2.0/ 2.0 0.0 00 0.0 0.0 00 00 0.0 00 122 0.0 20 122 6.1 4.1 4.1
BN AT Ak — 17 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 2 11 2
A T 1A 100.0 0.0 0.0 0.0 59 0.0 0.0 0.0 00 00 00 0.0 0.0 0.0 00 00 00 00 0.0 0.0 0.0 59 00 00 0.0 0.0 1.8 64.7 11.8
A (D - T -1 4 0 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 1 0
FIARTIRE) 100.0 0.0 0.0 0.0, 0.0 0.0 0.0 25.0, 0.0 25.0 0.0, 0.0 0.0/ 0.0, 0.0 00 0.0 0.0 00 00 0.0 0.0/ 250 0.0 0.0 0.0 0.0 250 0.0
- 254 0 0 0 10| 35 20 12 5 17| 13 5 71 11 1 5/ 30 0 1 2 2 12] 14 o] 10 18 3 31 8
100.0 0.0/ 0.0 0.0 3.9 13.8 0.8 4.7/ 2.0 67 51 20 28 43 04 2.0 11.8 0.0/ 04/ 0.8 0.8 47 55 0.0 39 7.1 1.2/ 12.2 3.1
2 | mo A 110 0 0 0 318 1 8 2 9 3 3 5 5 2 3 8 0 0 0 3 2 5 0 5 2 71 10 6
o 100.0] 0.0/ 0.0 0.0] 2.7/ 16.4 0.9 7.3 1.8 82 27 27 45 45 18 27/ 7.3 0.0 00/ 00 27 18/ 45 0.0 45 18 6.4 9.1 55
é TRl f-Eh | FETBHLLS | 349 1 0 0 70 43 3 23 6 28 17 6/ 18 8 8 11| 29 1 1 4 2 10 16 30 190 33 220 24 6
il FRBLT LD DS 100.0 0.3] 0.0 0.0] 2.0/ 123 0.9 6.6/ 1.7 80 49 1.7 52| 23 23 32 83 03 03 1.1 0.6 29 46 09 54 95 63 69 17
iy - N 46 0 0 0 2 5 0 0 1 1 3 0 0 4 3 2 8 0 0 0 1 2 0 0 0 9 2 3 0
- SHARREL TSR 100.0 0.0/ 0.0 0.0] 4.3] 109 0.0 0.0 22 22 65 00 00 87 6.5 43 174 0.0, 0.0/ 00 2.2 43/ 00 0.0 0.0 196 4.3 65 0.0
- |EDfhoBE R AR, 39 0 0 0 2 2 1 4 1 3 3 1 0 3 1 1 2 0 0 0 0 3 1 0 3 5 0 2 1
T, SLEEZRE OB L FE) 100.0/ 0.0/ 0.0, 0.0/ 51| 51 2.6 103 26 7.7 7.7 26 0.0/ 7.7 26 26/ 51 0.0 00/ 00 0.0 7.7 26 0.0 7.7 128 0.0 51 26
Zoofh 15 0 0 0 1 5 0 0 0 2 0 0 0 0 1 0 2 0 0 0 0 0 0 1 1 0 0 2 0
100.0 0.0 0.0 0.0 6.7 333 0.0 0.0/ 00 133 0.0 00 0.0 0.0 6.7 00 133 0.0, 0.0 00 0.0 0.0 00 67 67 00 00 133 0.0
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s 540 o o o] 14 65 6/ 25 10/ 40 21 11 22] 25 8 19] 65 1 1 5 6/ 20 26 2l 29 33 18 50| 18
100.0/ 0.0/ 0.0 0.0 26 12.0 1.1 46| 1.9/ 74 3.9 20 41| 46 15 3.5 120 0.2/ 02 09 1.1 37 48 04 54 61 33 93 3.3
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